

$$3k + 5l = 4$$

l je ľubovoľný (parameter)

$$3k = 4 - 5l$$

$$k = \frac{1}{3}(4 - 5l)$$

zaujímavosť: $k, l \in \mathbb{Z}$

— je riešením práve

keďže $4 - 5l$ je
deliteľné 3

$\Leftrightarrow 5l$ dáva zvyšok 1
po delení 3

• $l = 3t$ $5l = 15t \equiv 0$

• $l = 3t + 1$ $5l = 15t + 5 \equiv 2$

• $l = 3t + 2$ $5l = 15t + 10 \equiv 1$

$$k = \frac{1}{3}(4 - 5l) = \frac{1}{3}(4 - 15t - 10)$$

$$\underline{k = -2 - 5t}$$

$$(k, l) = (-2 - 5t, 2 + 3t)$$

$$t = 0: (-2, 2) \quad t = 1: (3, -1)$$

$$3|6 \quad \text{prob } \bar{x} \quad 6 = 2 \cdot 3$$

$$3|6 \quad \text{a} \quad 6|18 \Rightarrow 3|18$$

$$3|n^2+1$$

$$n=3t$$

$$n^2+1 = \underbrace{9t^2}_{\text{zb}} + 1$$

kein div. treuen

$$n=3t+1$$

$$n^2+1 = \underbrace{9t^2+6t}_{\text{zb}} + 2$$

$$n=3t+2$$

$$n^2+1 = \underbrace{9t^2+12t}_{\text{zb } 2} + 5$$

\Rightarrow keine

$n+1 \mid n^2+1$
 Víme $n+1 \mid n^2-1$ \Rightarrow
 protože $n^2-1 = (n-1)(n+1)$

$$\Rightarrow n+1 \mid (n^2+1) - (n^2-1)$$

$n+1 \mid 2$
 n prvočíslo $\Rightarrow n+1 = 2$, tj. $n=1$

$$a = q \cdot m + r$$

$$\frac{a}{m} = q + \underbrace{\frac{r}{m}}_{\in [0, 1)}$$

a, b dataj' zbytek 1

$$a = q \cdot m + \boxed{r}$$

$$b = p \cdot m + \boxed{s}$$

$$a \cdot b = (pm + 1)(qm + 1)$$

$$= pqm^2 + pm + qm + 1$$

$$= (pqm + p + q)m + \underbrace{1}_{\text{zbytek}}$$

$$a \cdot b = (pqm + p + q)m + r \cdot s$$

вер. spol. дел.

$\frac{12}{1}$
2
3
4
6
12

$\frac{64}{1}$
2
4
8
16
32
64

$(12, 64)$
 $\Rightarrow \text{gcd}(12, 64)$
 $= 4$

$$64 = 5 \cdot 12 + \underline{\underline{4}}$$

$$12 = 3 \cdot \underline{\underline{4}} + 0$$

↳ gcd

$$(10175, 2277) = ?$$

$$10175 = 4 \cdot 2277 + 1067 \quad (4)$$

$$2277 = 2 \cdot 1067 + 143 \quad (3)$$

$$1067 = 7 \cdot 143 + 66 \quad (2)$$

$$143 = 2 \cdot 66 + \underline{11} \quad (1)$$

$$66 = 6 \cdot \underline{11} + 0$$

$$\boxed{\text{gcd} = 11}$$

$$11 \stackrel{(1)}{=} 1 \cdot 143 - 2 \cdot 66$$

$$\stackrel{(2)}{=} 1 \cdot 143 - 2 \cdot (1067 - 7 \cdot 143)$$

$$= -2 \cdot 1067 + 15 \cdot 143$$

$$\stackrel{(3)}{=} -2 \cdot 1067 + 15 \cdot (2277 - 2 \cdot 1067)$$

$$= 15 \cdot 2277 - 32 \cdot 1067$$

$$\stackrel{(4)}{=} 15 \cdot 2277 - 32 \cdot (10175 - 4 \cdot 2277)$$

$$= -32 \cdot 10175 + 143 \cdot 2277$$

$$12 = 2^2 \cdot 3$$

$$64 = 2^6$$

$$\Rightarrow (12, 64) = 2^2 \cdot 3^0$$

$$[12, 64] = 2^6 \cdot 3^1$$

$$1 \square 2.\underline{5} - 3.\underline{3}$$